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PRFIESS

1. (a) If n(A)—2 then ﬁnd the value of n(P(A)) ; w1
~ kil n(A)=2%, C"C@ n(P(A))ﬁW%ﬁN@TI £
“(5) What is the value of cot(—51r/4)? | '_‘_ - 1
cot(—Sn/4)‘€‘IHZl":TﬁﬂW‘7 S -
- (c) Wnte z=1in tngonometnc form . -*-jv " r‘ 1
. z-zwﬁamﬂnﬁwmﬁﬂawmu
(d) For which values of r, "C, ="P, ? BRI 1

r3 @mﬁmm "c "P ?

(e)lfa,bcarelnAP thenarea?x b?»anchmAP? 1
MW @, b, cAP@en@,c@'ceaA bAWc)mrﬁzﬁhAPts

W? I
(f) What is the coefficient of x" in the expansmnw'
of (1+x)*? . ]
(L4 x)a s X7 e R 292
(g) What is the gradient of the line £+% =1? 1
a

2 +7 =1 urorR e R 2
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( 2 ) R ' A R I

(h) Find the value of :

= ey 391 o
- . tan3x
lim o 1
x—0 sinSx . ,
(i) Mention the formula used to find SD. 1
WWﬁWwWWW| .
() What is the probability of gettmg two heads in tossmg
 a coin thce? 1
{maﬁm%qum—@n{@ cmaﬁvfsrﬁ-lﬁm?
b
2. (@ If n(A B) 10, n(AnB)-S and n(B A) 20 then
find n(B) and n(AUB).: Lo 3
M n(A-B)= 10 n(AnB) S ue n(B A) 20@, <
n(B)® n(AuB)ﬁc(ilWH o
(b) For any two sets A and B prove any one of
the following : * 3
ﬁm@mﬁ%AWBamﬁm@ﬁmaﬁtmww
) (A-B)n(B-A)=¢
(i) A-Bc AUB | . i
3. Fmd the domain and range of the relatlon R {(a b) ais
a multiple of b and a, b€{1,2,3,4,5,6,7}.. ~ = . 4
R={(a, b):a tx& b b1 ¢PF &% a, be{1,2,3,4,5,6,7}
FTNOR SIfcwa F #R0 Refy 41 1
4. Define a real function. Find the demain and range “of
the real function f(x)=+v2x-1 \ 1+3=4

Rl R I S g ————
Sferea |

Or / &%31
Prove that the function f(x)=3x+2 is a bijective mappmg 4

oI T @ [ (x) = 3x +2 TN 9B B-Fiewom |
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< 8. (a) For any two complex numbers z;; and z,,:prove that

ﬁm@'\ﬁﬁﬁ’f{ﬂnlezﬁmﬁﬂﬁWCﬂ o

0 lmmlelablznl e
. (u) arg(zlzz) arg(21)+arg(z2) G AA

"”Or/WW R

AT

o
AN

1%2+1%=3

v, r.ﬂ:y" B

Flnd the square root of 2x+(x2 l—1)1
' gr6iao v s RS BMaSTe

2x+(x -l)ﬂfﬁﬁ’{\
(b) 1If (a+1b)(c+zd) x+11y, prove tliat

ST : n

tii

?lﬁ(a+zb)(c+zd) x+ty,C“C@2Fﬂ°lW[
x2 +y? = (a? + b?)(c? +d2)

6. By mathematical induction Brove that .

MY AR AMNCT 21T 1
1+3+5+7 +- +(2n 1) n

7. Solve the mequatlon 5(2x 3)<3+1 and_show the

ST T
solution set on the number hne

DO Ao SRS,

¢ A Frals e

2 +y? —(a +b2)(c +d2)1 or!

5(2x- 3)< +1 uﬁw‘mﬁ TR w Wm W"‘a‘f"c%r

j){‘ { \ 3
ot e 003
RTRRES
S
!
4
wer
4
e
3

vfwmvwfawx U ”‘”,""
8. ,~(a) Prove any one of the following: . -~~~ -
wore frapTRs R- e «bt e 3
0 "P4rx"P g = R
@ "c,+"c,_;="*¢, - = -
oo 1 2 3 ' n N 1 '
+ + oes S |
(ii) 2 3t gt I vl
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i(by - Answer either (i) or (u)' el L3
()o@ (fITes P oo TR

(i) In how many ways can 7 boys. and.5 girls. be: arranged
in a row so that no_two girls. come togethcr?

mwﬁmﬁmaawﬁ?wamwsﬁ

N b TS R IR MR
(ii) How many tnangles can be obtamed when the vertlces
of a hexagoh ‘are joined?™ v Y.

wﬁﬁ@wwﬁmﬁw@ﬁcwm[

[al

-9, {a) Find the term 1ndependent of X ih the expansion
9

of 2x+——1—f-. T S PUL T 3
5x2) ‘ e

A ;'\‘
I h

9 .
(2x+—1—§-) 3 R x-Tog W Sfeean 1, =
5x B RS b3 ot R

(b) By usiné binomial theorem, ﬁnd fhe" .vélpe of 1 17, 3
ﬁm%ﬁwwﬁ117aw%ﬁwl

p e .
e ~'Ir.’ S . e

10. Answer cither part (a) or part (b) .4
(o) 1 S () e T B T R
(a) If the arithmetic and geometnc means of two

positive numbers are A and G respectively, then
show that A2G.

@Iwmﬂmww @zwwmAw Gitﬂﬁ‘{\ﬂ
@A2G | , |

(b) Find the sum of any one of the followmg
worq R @I @B IR e

(i) 5+55+555+ - up to n terms
(i) 1.1+2.3+8.5+4.7+-- up to n terms
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(5)
11.Prove (any two) : TR e i ST 2x2=4

() tan70°= 2tan50°+tan20° _
(ii) sinA+cosA=+2cos(45°~A) .

2T - 237 2 ST 2 7T
—+ —+cos8“+~—+¢C —_—=
(iii) cos 3 cos 3 S 8 os 3 2

(iv) 16 8il10°sin30° sin50°sin70° =1

12. Prove any one of the following
©or R CPIAT Bt 2 4
(z) cos—q—‘/[2+\({2*‘l(2+\/-)}]

i : o s

(u) s;ln2 A+ si112 B+sin? € = 2+2cos Acos BcosC v
" when (@f&m) A+B+C=n . .
13. Solve any one of the following : 4
S R I @Bt T 47

(i) sinb+cos® =42

(i) tan® +cot® =2

b

14. (a) Find the equation of the hne passing through the
points (1, 3) and (=2, =<1} 3
(1, 3)==F (-2, —1)ﬁw§’twwnmﬁwq’@ﬁmr
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(6)

(b) Find the equation of the line that passes through the
point (%, g) and parallel to the .{l_inez‘_bx -i-;"‘ayfi*sl‘-—,-,ao. 3

(; g)ﬁ‘i@ﬁﬂmex+ay+1 0 e e

l“”ﬁﬁ@l ' SV L T
Or/ wem SRR E‘y;

Find the angle between the lmes x- \/_ y 2 and
\/— 3x-y=1L

x -3y =29 3x - Y= mmwmqﬁ‘fﬂW|

’(f o

I R T I E

15. Fmd the centre and radius of the circle
x%2+y? -6x+4y+8=0. Also find the. equatlon- zof the
tangent to this circle at (1, —3). R 2+2=4

x2+y? -6x+4y+8=0 JGOR & W ?m’ﬂtf ﬁ°f§l Sall > ST
TE0R (1, - 3) Reqe =~ofeq e Bforear 1 v

Find the equation of a parabola in the fori y2 —dax. 4
Y = dax TPRS B ORgET AR Sreart o 0 T

Vv
' N

16. Determine the points which trisect the line segment
joining the pomts (3, O, 9) and (9, -6, 6).

(3,0,9) s® (9, es)ﬁwmﬁt mmas'mmw
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17. (o) Find the limit (any two): + . : = 1%x2=3
T mRRmESmE):

l h . - e
,,!." e xz-g- B

!
4
'
l
X

e | CR
O - D THEIEE : - S
@ lim — . S e sl
‘ x—0 sin2x : o
~ 1—cos2x -
(zu) lim —02—3—
x—0 x
x bx . ' ~ ’
- (iv) llm"—'— GRVEN S e gl e
x—0 b4 - . -

(b) Find the denvatlve Wrt x (any. two) R 2x2=4
| x-ﬂnwﬁ@mqﬁaw%ﬁm S
) eF +xlogx -
x+1 VY
i) L 7
@ Tx-2

o o

’ = cosx ) | T D0
(iti) |———— : ‘ o
- ¥l+cosx . g . SR T A

(iv) a* + x% +ax

.- What is the negation of the statement’ ‘x =y? Find the
truth value of the following : coon o+ 14+1=3

‘% = ymamvh%m&?ﬁmw{%%@mwmﬂwﬁw

i) 2#5 and 6 <4
‘225F6 <4

(i) 7>2o0r 5«3
“7>275<3
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(8)

19.:(a) Find the mean deviation - from. the mean' -of the

frequency distribution given below: :<: -+ - - 6
ﬁmwwwmmﬂmwwﬁyﬁﬁww
Class | 0-10. | 10-20 | 20-30 | 3040 | 40-50. 50—6b
() 1
Frequency| 5 7 13 12 | 8 | &
(Ao EE

. “,"“_‘ - 0

Or / O[T s

(b) For the following frequency dlsmbutlon calculate the
standard deviation (SD) :

mwwammwﬁp%ﬂww

R 0-10 | 1020 | 20-30. 39-40 4050
(@) : ’
| Frequency | 10 12 25 7 9
(IR ‘

20. Find the probabl.hty of getting exactly two heads 1n tossing
a fair coin four times. 4

e Y@ 9B RIR Fewerre B 151 3o Cﬂmv@m‘ﬁc‘fﬁwn

S

Or / 9@y

. Find -the Probability of gettmg dn 'odd dxfference in throwmg e
. a die twice. :

mw@m’wwwaﬁmwwwwﬂwmm
eIl Efreat |

* ok

g '6*,28




